BHETRATE 5 BETEAR O 931004
a0 TR v
1-3 ¢k A
& IBLEANS e %

SEI2E (BE 5 5)
1 () = (B Ly FEx PR 2 (L)

v

o
=T

FF[;FHJ%J'%F"J&E&%{'&éd )
3k 2 WRVHTEFEE) - i/D%Hl%f"fﬁ?&@f@”%{&f PR -

FVERESERL 1 HT AP - .JP(n) FAE nﬂ,ﬁig&égﬁpﬂ?& +f§[‘pu & SPO)=0-

g LR 0 2

| e
@ (7

*k%):l‘ﬂr‘ml*i&é‘[jrpl —“,J © 34 %'&FJ
'

N

%
H

(A) P@3) =3 (B) P(5) =1 (C) P(10) = 2 (D) P(101) = 21 (E) P(103) < P(104)
P3) =3 (EI-p#-3H)

L (A) PQYAA ST 3FfUM R

(B)

y[[ﬁgﬁl »P(B)=1 ("% PR R 2H)

FA 5 5 RE-
P(0)=0 ' PQ3)

€

(D)

(E) P(102) = 21 + 1 = 22,

*

P(‘S) P(4)

.P(10) =2
P(101) =20 +1=21

= P(103) > P(104)
3+ () A={1.2}, B={123,45) [ JIF L ? (A) AcB (B) AU+ %T| 4

—. JEFRE

4~ FF(X) =

(C) ,AcCcBEUlﬂmu;‘%FﬁC
FEEF(X)=x+1H] f(x) EEf1AZ=B YR

(B8 10 9)

+3X+2

2X2 —x+1 > [l f(x+1) =

fadr| 0 F(X+D) =2(X+1)* = (x+1)+1=2x* +3x+2

3- (l)F%f(x):2x+1,A:{x|1sx£5} ’

£1H

HIIfifrisse £ (A) =

8 fli (D) i &ty

P(103) =22 + 1 =23 ,P(104) =23 — 1 = 22

fIAZ BV HEr32 B ()




(Z)P%f(x):%,A:{xin,Xe R} - Flfiiss £ (A) =

t(){yp<y<11} @1{1-1

5~ @ H0) B i SR () = F(x+8), f (=) =~ (x) > =11 £(2)=3 -~ I
Mfa)=____ - @f(2nN=____

& & (1)3 (2)-3

1347 (D) FA2)=f(7)=f(2) =3« (2) f(-27)=—f(27)=—F(2) =-

6 - f(x):ﬁ+r1x L (x) e

: {x|x>-3%"x#2}

7> F%f(x):x2+2,g(x)=2x+3 |
(1) f(g9(0) = > (2) f(9(x)) =
FE(n (2)4x* +12x+11
f245|: (1) f(g(0)=f(3)=3*+2=11 -
(2) f(g(x)) = f(2x+3) = (2x+3)* +2=4x* +12x+11 -

8~ f()=2x" -3x+ 1 ¥ FVEARMIT {X|xe R} HIf.L ffisils

= {ye R yz_z}
S0 =V1-x o FIEREE T (O &S

ﬁi#fr :1-x>0..x<1
x*-1 1<x<3

10~ #1(9=[x-2], ~1<x<l 2 gx+D=fx-1) EJ[Jg(g):
2x+1, -3<x<-1

113 X0 x VR R () =[x]=[7] - HlixeR - ff
DHf@ag)=___ - @f(m=____ -
R (2) -7
fEr (1) f(4.8)=[4.8]-[r]=4-3=1 -
) f(-7)-[-7]-[x]=-4-3=-7 - 37~ (1)%f(x) 2x+1 > [Lﬁn‘ﬁfa
12~ - Iﬁ; N 1%??@%@/ ) P (L) M (2, 3) M T‘H?%Ff =
(£ %] —3%+3
ty=f(x)=ax+b

-l=a+b . 4
3=-2a+b 3’

4 1
SEX)=—ox+2
() = =3 %+

£2H



éﬁj&?fgﬂ(x):mﬁfjigﬁ
e [E'mt"* PEp - FIV4-3x-x">0

ARG > HH x> +3x—4<0
77 RISt (x+4)(x-1)<0

L, —4<x<1
i LA {X-4<x<1, xeR}-
. X* —Xx—56
14~ R (0 =5 — ot .
R T (X) VT

. Iylflliu FI[E:I;» nJ

X? +2x-15=(x+5)(x—23)

PEHC0 - Ax#=HE x#3 e

Ff[’?i‘—_’?;:iﬁﬁ%{x|x¢—5_5'x¢3,XE]R} o
15 ~ PRI f (X) = x* —8x+17 ot A={2, 3,4, 5,6} » F4f ffufifiish -
E DE (X)) =X —8x+17 = (x—-4)* +1

Hf(2)=(2-4)? +1=5, f(3) = (3-4)? +1=2

f(4)=(4—4)2 +1=1, f(5) = (5-4) +1=2

f(6)=(6-4) +1=5

Frrfpu;g‘liﬁ&t W{l, 2, 5} -

3-J17
4

5 £ (x) = 2X° — 3x— 2 ’;%f@j*f(3),f(—%),f(

: f(3)—2><32—3><3—2—18—9—2—7

f(-2)=2x(- ) -3x(-2) - 2—§+

)i

3

-2=0,
2

(3 J_ 3- J_ Wk J1_7
)=2x(—— 1
:13—3J—+—9+3J1_7_

4 4
=1-2=-1.

FORFHEE T (X) = VX+ 2+ 45— x -4 USRI
: £ [E X+ 2 Fi— *44;]\7‘ IWTVX>—2
£ ]E[\/ X Eh— *EME}J( FIgVX<5
fisp= - FREr BRI {X -2<x<5, xeR} -
bt e s (x=2)(x+5)
RCRRrg(X) = —————=
i (x+3)(x7)
DI AT (x+3)(x=7) PEFT 0 M x=-35 x=7
ﬁyi;gj@.t WX x£-3 = x27, xeR} -
19 YIS AGra b e 2402 >32 > ffla, b T Bl DR (e 4
F%O<a£4_i'0<bs4:>a <16 = b” <16 = a’ +h* <32 LI AN
cSa, b = PE- [WEeAT 4
£37H

R



